HPE_CIEF02-Zapfenempfindlichkeit Ymax(M)=1
I'F02,10)=B11XFo2,1(A)+B12Y Fo2,1(A) +B13ZF02,10)

Bjj 0,2105 0,8550 -0,0396\{570)
2,01 D50: ZTFOZ,I(A):22'47
Xro2,1=0,3483 Yoz 10,3607
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HPE_CIEF02-Zapfenempfindlichkeit ynax(A)=1
Moz, 1(0)=B21XFo2,10)+B22y Fo2, 1M +B2aZFo2,1(A)

By —0,4170 11772 0,0786 A{545)
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HPE_CIEF02-Zapfenempfindlichkeit Yax(A)=1
SFo2,10)=B31XFo2,1M)+B3y Foz, 1\ +BaaZFo2,1(A)

By 0000 0,000 0,5168 A-445)
2,01 D50: Z§F02,1()\):9'11
XF02,1=0,3483 y|:02,1=0,3607
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,,=100
I'Fo2,dN)=B11XFo2 {A)+B12YFo2 M) +B13Zro2 {A)

By 0,2105 0,8550 -0,0396\{570)
10Ty m =513, 565, 623 D50: T pgp dA)=102,64
Troz.dAm =221, 4,44, 2,21
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
Meo2 dA)=B21XFo2 M) +B22Y Foz M) +Boazroz {A)

By -0,4170 11772 0,0786 A{545)
10fA y, =505, 545, 587 D50: £l g, {1)=83,78

Mro2.4M.m 2=2,28, 4,57, 2
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HPE_CIEF02-Zapfenempfindlichkeit Yg,,=100
SF02,4N)=B31Xro2 dA) B3y Fo2 dN)+B3azZroz A)

By 0,000 0,000 0,5168 A¢-445)
10TAy 1, =426, 450, 478 D50: 55 {N)=41,65
Sro2.dA1.m =187, 3,76, 1,81
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HPE_CIEF02-Zapfenempfindlichkeit | j44(A)=1
TFo2,fN)=[B 11X Fo2,iN)+B12YFo2,iM)+B13ZFo2,M)]
Byj 0,2105 0,8559 —0,0396\{570)
A1, 2513, 565, 623 D50: 3T oy {\)=102,64
TF02,4}\1,m,9:2’21' 4,44, 2,2
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HPE_CIEF02-Zapfenempfindlichkeit Myp4(A)=1
Mgz, (AN)=[B21X Fo2,nfA)+B22Y Foz, M) +B2aZro2 nA)
By -0,4170 1,1772° 0,0786 A{545)
A m.2=505, 545, 587 D50: ENiTgqp dA)=83,78
fﬁpoz,s(?\l,m,2)=2v28, 457,22
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